BARBERVHELBEOERAN

K (AARA+SEA) SH7ESH1BRE
[ X - & ERE% | AR
— 22 25 47
BRADE —5r 61 62 23] A~76 A1
~wree |_BEA 286 201 487
HEBE 55 207 233 530 &4
MR AL - HERES  THAE0
< SH7ESH1BRE
" ]
i | R HHH T 3
BiH L AR B A ke AR B Atk AR B Atk AR
- 24 193 21 315 2 139 19 76
16 14,731 A 17 30,819 A 13 15.062 A 4 15.757
gt N 77 N 137 N 72 N 65
Ll A3 7.881 A 36 17.342 A 15 8.562 A 21 8.780
m 0 15 0 37 1 13 N 24
s 31 2.880 26 6,947 16 3.434 10 3513
0 0 0 3 0 0 0 3
BEE )l A3 772 A 10 1889 A6 943 A 4 946
0 3 0 5 0 2 0 1
R A4 888 A 16 2216 A 13 1102 A3 1114
— 0 1 0 8 0 0 0 8
- = i 646 A2 1684 0 861 A2 823
. N 42 N 51 N 20 0 11
i 1364 A2 3.142 A3 1543 i 1.599
N N 9 N 16 N 10 0 6
=7K 5 1.002 i 2438 4 1187 A3 1.251
1 T8 1 3 0 14 1 17
HE 12 2251 6 5.827 5 2885 i 2042
= 0 0 0 2 0 0 0 2
== A 366 A5 978 A 490 A 4 488
- 1 5 1 17 0 9 1 8
AR A2 437 A9 1,099 A2 561 A7 538
g 22 364 7 622 N 301 T8 321
g 53 33218 A 64 74.381 A 28 36,630 A 36 37.751
ol 0 6 0 20 0 10 0 10
“ 4 1.951 2 4.609 4 2251 A2 2358
. . 0 0 0 0 0 0 0 0
il | TR 0 207 A3 534 A2 283 A1 251
e 0 6 0 20 0 10 0 10
A 4 2.158 A 5.143 2 2 534 A3 2.609
—— N 34 N 50 N 21 0 29
= 5 2.363 A 21 6,084 N 3.047 A 14 3.037
. 0 0 0 i 0 0 0 1
- F55 0 122 0 348 0 175 0 173
= o 0 5 0 6 0 0 0 6
G 0 232 A2 677 A2 352 0 325
at N 39 N 57 N 21 0 36
A 5 2717 A 23 7.109 A9 3574 A 14 3,535
0 21 0 34 0 9 0 25
AREZ 5 1416 5 3.319 4 1631 i 1688
_— 0 21 0 34 0 9 0 25
5 i 1698 A4 3.849 A 4 1837 0 2012
0 4 0 9 0 4 0 5
L& 0 747 0 1656 2 781 A2 875
N 0 0 0 1 0 0 0 1
E&8| A 106 0 274 0 135 0 139
i 0 10 0 7 0 2 0 15
= 2 451 1 1,109 0 575 1 534
L 0 6 0 6 0 2 0 2
o 0 124 A3 320 0 160 A3 160
e 0 62 0 101 0 26 0 75
A 7 4542 A 10,527 2 5119 A3 5.408

T ERESNEAN, SFHIFNEALEALAQLHFHRTHD,

1




s A O
i | X HH 3 Z
BiIH L AH BiIH L AH BiIH L AH BiIH L AH
1 0 23 0 32 0 23 0 9
&l 0 2,018 A9 4327 A1 2.101 A 8 2226
- 0 0 0 0 0 0 0 0
== 1 380 A3 950 0 493 A3 457
A 0 0 0 5 0 0 0 5
1 ’ 2 513 2 1,146 2 585 0 561
ol rma 0 0 0 4 0 [ 0 3
u 1 500 1 1,200 0 599 1 601
0 1 1 5 1 2 0 1
BRI 0 588 A 10 1,448 A6 733 A 4 715
e 0 24 1 46 1 28 0 18
A 4 3,999 A 19 9,071 A5 4,511 A 14 4,560
= K 12 A 2 17 A 2 6 0 11
i A 8 1.121 A 18 1,998 Al 957 A7 1,041
I 0 10 0 14 0 6 0 8
lezas = 2 897 A5 1,945 A 954 A4 991
7 - 0 5 0 7 0 3 0 7
2 338 1 700 0 341 1 359
e K 27 A 2 38 A 2 15 0 23
A A4 2,356 A 22 4,643 A 12 2.252 A 10 2.391
- 0 21 0 49 0 29 0 20
n 1 1.257 1 3,141 0 1,538 1 1,603
nan 10 36 10 54 K 33 K 21
aR aka 0 1,573 A 10 4,120 A5 2,081 A5 2,039
n . 0 [ 0 7 0 0 0 2
= Al 751 A5 1,981 A3 988 A2 993
g 10 58 10 107 K 62 K 45
0 3,581 A 14 9,242 A8 4,607 A6 4,635
- 30 580 25 991 8 763 17 528
A 69 52571 A 144 120,116 A 58 59,227 A 86 60,889
5 99 53,151 A 119] 121,107 A 50 59,690 A 69 61,417

T ERESNEAN, SFHIFNEALEALAQLHFHRTHD,
2



(BXA]

XA A O HEEREE N
SHTESA1BRAE
HE . AD

Hhigg X &t 5 ©

A A A A A B A B
=2 14,731 30,819 15,062 15,757
by 7,881 17,342 8,562 8,780
HH 2,880 6,947 3,434 3513
Gl 772 1,889 943 946
E PN 888 2,216 1,102 1,114
_— iR 646 1,684 861 823
&K 1,364 3,142 1,543 1,599
=k 1,002 2,438 1,187 1,251
BE 2,251 5,827 2,885 2,942
= 366 978 490 488
pi: ) 437 1,099 561 538
IVEE 33,218 74,381 36,630 37,751
AL 1,951 4,609 2,251 2,358
Wil | TREEH 207 534 283 251
IVEE 2,158 5,143 2,534 2,609
=ARK 2,363 6,084 3,047 3,037
=5k ﬁi%i% 122 348 175 173
.4 232 677 352 325
IVEE 2,717 7,109 3,574 3,535
ARREIR 1,416 3,319 1,631 1,688
TiE 1,698 3,849 1,837 2,012
LR 747 1,656 781 875
BEEE EA 106 274 135 139
K8 451 1,109 575 534
s 124 320 160 160
IVEE 4,542 10,527 5119 5,408
E=gas] 1] 2,018 4,327 2,101 2,226
A1 380 950 493 457
s ;mfl 513 1,146 585 561
L8R 500 1,200 599 601
[ip N 588 1,448 733 715
IVEE 3,999 9,071 4511 4,560
8 F 1,121 1,998 957 1,041
. NiE 897 1,945 954 991
R BE 338 700 341 359
IVEE 2,356 4,643 2,252 2,391
HR 1,257 3,141 1,538 1,603
HE ;"n’ﬂs 1,573 4,120 2,081 2,039
KE 751 1,981 988 993
IVEE 3,581 9,242 4,607 4,635
BAA &t 52,571 120,116 59,227 60,889




(SHEA]

XA A O HEEREE N
SHTESA1BRAE
s . AH
Hhigg X &t 5 ©
A A A A A B A B
=2 193 315 139 176
by 77 137 72 65
HH 15 37 13 24
Gl 0 3 0 3
PN 4 5 4 1
=R 1 8 0 8
= &K 42 51 40 11
=k 9 16 10
BE 18 31 14 17
= 0 2 0
pi: ) 5 17 9
IVEE 364 622 301 321
F L 6 20 10 10
Wil | TREEH 0 0 0 0
it 6 20 10 10
=ARK 34 50 21 29
_ #1555 0 1 0 1
S 8 5 6 0 6
it 39 57 21 36
ARREIR 21 34 9 25
TiE 21 34 9 25
LE 4 9 4 5
BEEE EB 0 1 0 1
K8 10 17 2 15
i 6 6 2 4
IVEE 62 101 26 75
E=gas] 1] 23 32 23 9
2l 0 0 0 0
" A 0 5 0 5
T T 0 3
[ip N 1 5 4 1
IVEE 24 46 28 18
8 F 12 17 11
- & 10 14 8
BFER o s 7 ;
it 27 38 15 23
HR 21 49 29 20
BER 36 54 33 21
Bl KE 1 4 0 4
IVEE 58 107 62 45
SLEA &t 580 991 463 528




